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OAsIIHRSE 2AIEE 500,000& x 1 33| 1,500
OAMNtEE= M 200,000 x13| 200
206 M = dl 6,000 6,000 0
01 X2 bl 6,000 6,000 0
O+814+ UYE HEEYTY
200,000 x25H E 5,000
OZiz=28 2SI XM 2
100, 000& *5& *23| 1,000
301 et A= 3,500 3,500 0
09 HAIAHI BEAZ 3,500 3,500 0




SN RSUAD
A BMUSM(SHUNLSM/EY - 5E)
S DFE o Mat CEE-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %E& HRE2
Oltx=sIt s L S &H X 0HY
7,000& x100Y 53] 3,500
307 2iz2to| & 10,000 10,000 0
04 SIZ2ISHAAISH E & 10,000 10,000 0
OD+EH L BESHAX S
20,000, 000& 13| x50% 10,000
402 BI2H X 20| M 270,000 232,500 37,500
01 QIZEXIE2AIE 2 X 270,000 232,500 37,500
OAF MAI|BIRASAIS
30,000,000 *x2ha*50% 30,000
OFEx= PIAXTLAY 180,000
ONS2HEDIEXXNSAS
6,000,000 «10CH *50% 30,000
O YA L ZAOLHALS
400,000 *150ha*50% 30,000
= MAX & 152,000 160,000 A 8,000
402 It X201 & 152,000 160,000 A 8,000
01 QIZEXIEAIE 2 X 152,000 160,000 A 8,000
O3 KNAS
400,000 *250ha*50% 50,000
OWLAMNHEERX M KA
500,000 *200ha*50% 50,000
Oz=MA J|IBIRZ ALY
6,400,000 *10=2 *50% 32,000
Ofst2d EZSA M (HME=XAH)
1,000, 000& *20ha*50% 10,000
OZ2 WDl XA 1,000,000 «20CH x50% 10,000
WE=TH AR AL 50,700 85,000 A 34,300
= 18,610
= 32,090
402 SI2F X0l & 50,700 85,000 A 34,300
& 18,610
= 32,090
01 QIZEXIE2AIE 2 X 50,700 85,000 A 34,300
OEHIEXZ ALY 50,700
— L "2 2I2 XA (55ha)
44,000,000 =14 2~ *50% 22,000
== 8,800
= 13,200
— WA X DNEE MACX AIEXH
20,000,000 =14 2~ *80% 16,000
& 6,000
= 10,000
— A &I HEMX 12,700,000& 12,700
& 3,810
= 8,890




SN HEXNAD
Hu: AHSSRSSL(SYHYLM/5Y - 58)
oSl SEXR2DBIMY SEREED)
- _ _ RE]
M- B (B H) - NSAY - B Ol At o ﬁ}lgﬁ HRE2
AN ESXNESESL (sHllLLA /s - 55) 3,072,344 3,876,761 A804,417
= 170,562
Xl 190,000
J| 109,792
= 512,335
= 2,089,655
MAESNISE ML 490,216 1,101,909 A611,693
= 80,000
= 72,698
= 337,518
ESMAZNEYEY 11,900 20,200 A 8,300
201 gBt2Ay| 11,200 9,500 1,700
01 AFR 2t 2| H| 11,200 9,500 1,700
OSgx2 9 FETH ALY
500,000 *143| 7,000
OEE&s & Axna 29U (DM, At
s) 500,000 =63 3,000
OS3SE =42 300,000& x4 AH 1,200
301 LBt A= 700 700 0
09 SHAIAHI EAZ 700 700 0
OE&NR A S| 7,000 x100H 700
HNEEZ A ZMA 70,000 175,000 A 105,000
402 SI2FXHE0| & 70,000 175,000 A 105,000
01 QAN SAIEE =X 70,000 175,000 A 105,000
OEMZE2S4H (01X, 22X, HF) 50,000
—N2sSHH 2= 6,000,000 «10CH *50% 30,000
— 23 8,000,000 *52 *50% 20,000
OUIE B8 HNASHSSY
20,000,000 *x2ha*50% 20,000
EZASNI=sE2 160,000 200,000 A 40,000
= 80,000
= 80,000
402 SI2tXHE0| & 160,000 140,000 20,000
= 80,000
= 80,000
01 QA XSAIEE X 160,000 140,000 20,000
OZHIEXZAY 160,000
— D320 AESX =4
100,000,000 =104 & 100,000
= 50,000
= 50,000
— QO AF M5 XI=THEH AlEY
60,000,000 x 104 & 60,000
= 30,000
= 30,000
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AN ZASXE 0
P

Hu: AHSSRSSL(SYHYLM/5Y - 58)
cel: SERSDEIMA CEEEED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
SEEXSTHNIAAS 146,836 508,640 A 361,804
= 72,698
s 74,138
402 2I2H X201 M 146,836 480,640 A 333,804
< 72,698
s 74,138
01 B2t AL E X 146,836 480,640 A 333,804
OZHIEx= A 146,836
— o2 d 360,000& *20ha*80% 5,760
= 2,160
s 3,600
—SEU NEAY 2,152,000 *1JH 2 *50% 1,076
< 538
[ia 538
—BHYOrE OFMAY X
28,000,000& *10ha*50% 140,000
< 70,000
[ia 70,000
aAgdasHHIETHE 101,480 165,669 A 64,189
101 1244 dl 26,050 43,575 A 17,525
04 D122 2XREE S 26,050 43,575 A 17,525
Ozl =gy 48,2403 x3H 180 26,050
201 Let24d] 50,300 70,924 A 20,624
01 At 2teltl 50,300 70,924 A 20,624
OEX Xt 850& x38,000m" 32,300
OIS ES 5I1H LX(EAE S)
300,000 30 x 10 *23 18,000
206 M= Hl 25,130 46,170 A 21,040
01 M= 4l 25,130 46,170 A21,040
O2AHHl EXt 500& x20,000m" 10,000
O &yl 3,300& *1,000£ x23] 6,600
Odl= 25,0003 x95 I x23| 4,750
Ootdle 60,0003 632 3,780
AUSI=E= 1,033,540 941,040 92,500
= 50,000
Xl 190,000
< 119,750
s 673,790
2UHSHAI=XE 154,040 148,540 5,500
201 et 15,000 9,100 5,900
01 At 22l 12,000 6,100 5,900
ORUAR2I&zLS 12,000
— W ZA 300,000& x203| 6,000
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o ANSBSNSSL(SYHS+
S ARSI

= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
— WA 5,000& x600= 3,000
— 8= N 60,000& x103l 600
— &N AE YR 600,000 *43| 2,400
03 A2 Z Hl 3,000 3,000 0
O=e220t dotgl 3,000,000& =13l 3,000
206 M= Hl 8,000 8,400 A 400
01 =8l 8,000 8,400 A 400
OZEFMA ek AlE e ¢
5,000& *800kg 4,000
OO MAM HIRAIEE M ¢
2,000,000& *2ha 4,000
301 L2 A= 5,040 5,040 0
09 &ALAHI B &3 5,040 5,040 0
ORUAEAE ns &I Sl
7,000& 60 x123] 5,040
402 RIZEXtE0| A 126,000 126,000 0
01 At TtEAEEX 126,000 126,000 0
OBME ZAY 23 X8
100, 000& %8005 *50% 40,000
OMa g XA 6,000,000& »5CH x50% 15,000
Om=ecot 24l 22 Ald 15,000
- 8= 6003 *50,000&! *50% 15,000
OASAS &Il AlY 25,0002 *4,000m" *50% 50,000
OWMHANA S THEHEX Matd S X
800, 000 & *15ha*50% 6,000
LI A 242,000 242,000 0
402 2I2H X201 M 242,000 242,000 0
01 It AL E X 242,000 242,000 0
OLII2EE s X3 242,000
—3EFEAM4E 40,000& *5,000m*50% 100,000
— Q%A 20,000& *5,000m x*50% 50,000
—HzaZE 2,400 *35,000Z x50% 42,000
—LdHSZ0l 10,000, 000& *109H 2 *50% 50,000
SHANBEZL2X 24,000 25,000 ~1,000
402 RIZEXHE0| A 24,000 25,000 21,000
01 It 2 AL B X 24,000 25,000 A 1,000
Oztsll &3k N& 1,600& %30,000m" x50% 24,000
Aoaol=23 100,000 50,000 50,000
= 50,000
s 50,000
402 RI2HXt20l ™ 100,000 50,000 50,000
= 50,000




2N HSXAD

HH: ANSBNSSL(STHYLM/5Y - 52)
@2 FAuESII=E3 (&2 &)
SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlf& HD=2
= 50,000
01 A XS AIEE =X 100,000 50,000 50,000
O=2HE2XZ A 100,000
— SN AER AT EY
100,000,000& = 1JH & 100,000
= 50,000
= 50,000
ANERUIIE22 276,000 198,000 78,000
o= 119,750
= 156,250
402 QI2b X 20| & 276,000 198,000 78,000
& 119,750
iy 156,250
01 QI2ZtXI2AIE E X 276,000 198,000 78,000
OZHIEXZAY 276,000
— WS ROYH MAHAF AlY
50,000, 000& =10 2 *80% 40,000
== 15,000
= 25,000
— NS MESAE Mo JI=E22 AlY
50,000,000 =14 2~ *80% 40,000
[ 20,000
= 20,000
— 202 DMES=sY HAMNEWN HHAY
7,500,000 30 2 x80% 18,000
== 6,750
= 11,250
— A0 NHSOHH M5 AlY
10,000, 000& = 1JH 2 *80% 8,000
== 3,000
= 5,000
— NEZE EHSANS MAAE XA
100,000,000 10 2~ x80% 80,000
== 30,000
= 50,000
—XNEsEEHLS A (Z) DEKDAE B
2) 100,000,000 *1JH 2 x80% 80,000
& 40,000
= 40,000
— OS U MAI= AIESX 4
12,500, 000& =10 2 *80% 10,000
& 5,000
= 5,000
HEXNY HOMASH 237,500 257,500 20,000
Xl 190,000
= 47,500
201 Yer2 | 17,000 17,500 A500
Xl 13,600
= 3,400
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
01 At 22l 7,000 7,500 A 500
OXSZ A A 7,000
—czus(ng, ALY, AY) U 22
7,000,000& 14 7,000
Xl 5,600
[ia 1,400
03 &Ar2 Z I 10,000 10,000 0
OXE3 A AL 10,000
—SEAZCI MEBA(E2HI S)
10,000, 000& 14! 10,000
Xl 8,000
s 2,000
206 M= Hl 30,000 30,000 0
Xl 24,000
s 6,000
01 M= 4l 30,000 30,000 0
OXSal A A 30,000
— o8 HEZHI HE+LY  6,000,000& x53 30,000
Xl 24,000
i 6,000
307 glz2tol & 10,000 10,000 0
X 8,000
s 2,000
04 DI2HHALALSE E X 10,000 10,000 0
OXSZ A A 10,000
—HEOHE AL & EEXE 10,000,000 x 14! 10,000
Xl 8,000
s 2,000
402 DIZHRFEO0I A 120,500 140,000 A 19,500
X 96,400
s 24,100
01 B2t AL E X 120,500 140,000 A 19,500
OXSZ A A 120,500
— O THEH &84k XI& 1,000, 000& *10ha*80% 8,000
X 6,400
s 1,600
— % E4s0ls 84 S ME XN&
25,625,000& * 10 2= «80% 20,500
Xl 16,400
[ia 4,100
- MEHe € o3 A&
115,000, 000& 14 x80% 92,000
X 73,600
i 18,400
405 XtatE SHI 60,000 0 60,000
Xl 48,000
s 12,000
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- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
01 AL 2 ZF S| 60,000 0 60,000
OXI S8 2 At 60,000
—SYeBEX Blg FH 7Y
60,000,000 14! 60,000
N 48,000
= 12,000
NEZJANES A 1,548,588 1,833,812 N 285,224
= 40,562
J| 109,792
= 319,887
= 1,078,347
SHIIF X &AM 218,500 273,400 A 54,900
402 SI2F 20| & 218,500 273,400 A 54,900
01 QIZEXIE2AIE 2 X 218,500 273,400 A b4,900
ORNFsY LIS
1,200, 000< *260ha*50% 156,000
O£ A ANYTHBH 500, 000& *50ha*50% 12,500
OEu XA 3,000,000 *33.333ha*50% 50,000
20 S HAAEXH 343,000 343,000 0
402 SI2FXHE0| M 343,000 343,000 0
01 QIZEXIE2AIE 2 X 343,000 343,000 0
Ol D& THHH X & 30, 000& *5,000m *50% 75,000
OLHTHOHE ARASIRAEX XA
20,000 10,000 M *50% 100,000
OHIJIFAIEHASH X XS
20,000 10,000 M *50% 100,000
OANMENA: sgs Z832E X2
8,000, 000& *72 *50% 28,000
O%I| MY &HINA X & 40,000
—=2LE)|(n4) 4,000,000 «8CH *50% 16,000
— ASUED(ERA) 900, 000& *20CH *50% 9,000
— 24| | 6,000,000 *5IH A *50% 15,000
sHEWUWUXNOIE2SEsAIY 101,405 11,000 90,405
= 40,562
& 18,253
= 42,590
402 SI2FXHE0| & 101,405 11,000 90,405
= 40,562
& 18,253
= 42,590
01 QIZEXIE2AIE 2 X 101,405 11,000 90,405
O2HEBZAY 101,405
—sdHUXNOIEEESH(HUHREZAIA)
10,000& *20,281m *50% 101,405
= 40,562
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A 59,520
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HE (D3 HIJIE THHHAIA)
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274,480
274,480

274,480
109,792
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115,282

334,000

A 59,520
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435,470
211,228
224,242

606,000

A 170,530
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402 =0l s
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211,228
224,242

606,000

A 170,530
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AMES U K&
10,000, 000& *20ha*50%

—dIJI=2301 X 16,500,000 «40H 2 «40%

—L2oeA AIEHA

10,000, 000& *3.2ha*50%

10,000, 000& *12ha*50%

|
2
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%
b

U sI1H K&
2,000,000% = 1CH «50%

—0SE A0 A& IS

10,000, 000 *40CH *50%

VN

M Mo M H M H

M

435,470
435,470

100,000
50,000
50,000
26,400

9,900
16,500

16,000

8,000
8,000

60,000

30,000
30,000

1,000

500
500

200,000

100,000
100,000

606,000
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2N REXNAD
HE: ANSBHSSH(SYHLLM/5Y - &)

et DB 2L (B9 ®R)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
—g) REe20z 22
600 x106,9003= *50% 32,070
& 12,828
= 19,242
S| MALCHX XA 102,500 187,500 A 85,000
== 41,000
= 61,500
402 BI2H X201 M 102,500 187,500 A 85,000
& 41,000
= 61,500
01 QIZEXIE2AIE 2 X 102,500 187,500 A 85,000
OEHEXZAY 102,500
—SIFAIE S XA
8,000 x20,000m* x50% 80,000
= 32,000
= 48,000
— S RSANE L HHES
7,500,000 *6IH A *50% 22,500
= 9,000
iy 13,500
A AZCHT] ™A S 73,233 78,912 N5,679
101 Q24| 34,733 36,712 N 1,979
04 JI2ZtHIZ22NEE S 34,733 36,712 A 1,979
OMBBOTZA U 2o
48,2403 x4 H 180 34,733
201 LBt | 38,500 42,200 A 3,700
01 AP 22| d| 38,500 42,200 A 3,700
oMasAZAX] EX YR 850& «40,000m 34,000
OJIgtES SI|H LX(EHHH 700t S)
300,000 x1CH*x15 4,500
SUHXNFE2 (MY - SA)NY/RHALETS ) 102,529 55,297 47,232
AR AMAH =N 102,529 55,297 47,232
X HEHOI S 2ARY 102,529 55,297 47,232
101 2121 H] 27,169 24,937 2,232
04 JI2ZtHIZ2 2 NEE S 27,169 24,937 2,232
Oefx tsrat 22| 27,169
—J=2a2 48,2403 2 200 19,296
FEELG 48,240 23 x40 3,860
— X E 48 240R *x2H x7L 676
— 282 23,832,000 x14% 3,337
201 et | 25,360 25,360 0
01 AP 2t 2] H| 11,360 11,360 0
O2%x Ystat AZE 2 5,000
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AN HEXNAD
o sANAHB(MY - EA)Y/PAUENS )
SHol S EARY (S &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
—&AE %x P2 5,000 *»4Z *100= 2,000
—&A 2T 2 20,0002 1008 2,000
—JIEARE TY(HEN, FLSE S)
10, 000& 53 204 1,000
O&F=D 2z 60,000& x12& 720
Ofo&dd 9l 350,000& 122 4,200
Os&ll 88 ==& 120,000& = 12& 1,440
02 =224l 14,000 14,000 0
OdsR= 50,000& 123 600
OXIIRS 1,100,000& = 12& 13,200
OJIet 333 (22838l S) 50,0008 43| 200
401 AIEHI L 201 50,000 5,000 45,000
01 A& HI 50,000 5,000 45,000
OAx sttt sHtE BUHE X 2 B
50,000,000 *1J4 & 50,000
HesHESH (s2ldrdt/sd - =&) 3,027,000 502,000 2,525,000
= 2,226,900
= 630,000
s 170,100
sitgolaEsy 108,500 109,500 A 1,000
= 97,650
[ 10,850
Hetst saHelaAXJAdH 29 108,500 109,500 A 1,000
= 97,650
e 10,850
201 L2l 7,500 9,400 A 1,900
= 6,750
e 750
01 At 2t 2l 1,500 1,400 100
O=HIEXZ ALY 1,500
— SMHATIAMEH 2| 1,500, 000& 1,500
= 1,350
e 150
03 &Ar2 I 6,000 8,000 A 2,000
O=HIEXZ ALY 6,000
— =g gtgaE 2,000,000& x33| 6,000
= 5,400
e 600
202 o4dl 2,000 2,000 0
= 1,800
s 200
01 = LH o4 1l 2,000 2,000 0
O=HIEX ALY 2,000
—SHYoENAMH 29 2,000,000& 2,000

_24_




M HENE D

HE: sE

ool sl gy

(AE="1 AT o =
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
= 1,800
= 200
307 2Iz2to| & 40,000 98, 100 A 58,100
2 36,000
= 4,000
05 QIZ2tR E 2 40,000 98,100 A 58,100
O2HIEZAY 40,000
—MADSMIEESEIE 24
40,000,000 =10 A 40,000
2 36,000
= 4,000
402 SI2F 20| & 59,000 0 59,000
= 53,100
= 5,900
01 QA SAIE E =X 59,000 0 59,000
OZHIEXZANY 59,000
—s&H HHOAHE & 59,000,000 59,000
2 53,100
= 5,900
Hs KNS A 2,918,500 392,500 2,526,000
= 2,129,250
& 630,000
= 159,250
AsAHE DS2Y L HFAS N 58,500 42,500 16,000
2 29,250
= 29,250
201 LBt Y| 15,100 10,650 4,450
= 7,550
= 7,550
01 AP 22| d| 15,100 10,650 4,450
OZHIBEXZAY 15,100
— 2A =S 600,000& 17X 10,200
= 5,100
= 5,100
— WM Xz 33,000& 1008 3,300
= 1,650
= 1,650
— X Xt 800,000 =2CH 1,600
= 800
= 800
301 et A= 1,400 1,200 200
= 700
= 700
09 SHAIAHI EAZ 1,400 1,200 200
O2HEZAY 1,400
— WM I 7,000 x2004! 1,400
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s X2 ALY

SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2

= 700
s 700

307 glz2tol & 42,000 30,000 12,000
= 21,000
= 21,000

02 IZHEHAHE X 42,000 30,000 12,000
OZHIEx= A 42,000
—dEsIt @45 NF 6,000,000 x7H 42,000
= 21,000
= 21,000

SN SHERI XA AL (28]) 260,000 200,000 60,000
= 100,000
< 30,000
s 130,000

101 1A Hl 21,500 17,474 4,026
= 10,750
< 3,225
s 7,525

04 JIZtHZ2XNHEE S 21,500 17,474 4,026
O=3HIEXZ ALY 21,500
—HAsKNHYH &= 21,500
A== 48,2403 x 18 250 12,060
i 6,030
< 1,809
[ 4,221
cFEeE 48,2403 x 1 52 2,509
= 1,255
< 376
[ia 878
of X &g 48,2402 19 x 15 724
- 362
< 109
e 253
27 72,3603 x 1 +14L 1,014
= 507
< 152
s 355
- ol 1,462,000& 1 1,462
= 731
< 220
e 511
4HEE = 16,307,000 & *14% 2,283
= 1,141
< 342
s 800
gExZ 1,448,000& 1 1,448
= 724
< 217
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M
2Hm
==
£l
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350
— NESEYS BT 243
10,000, 000& * 13| 10,000
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1,500
3,500
NIEEd=S 27,500 0 27,500
OZHIEx= At 27,500
—AsZ2O0U0IH 24z 40,000& *2003! 8,000
4,000
1,200
2,800
—H=sEAHO 243 30,000 x6502] 19,500
9,750
2,925
6,825

Mo H

Mo R

HH A

401 AIEBIZ S CHYI 4,300 0 4,300
2,150

645
1,505

U AT

01 A& HI 4,300 0 4,300
O=HEX A 4,300
—FHse § 24 4,300,000 * 10 £ 4,300

2,150
645
1,505

U RN

402 212t X201 & 150,000 50,000 100,000
45,000
13,500
91,500

HH

01 g2t tEMAEE 150,000 50,000 100,000
& 150,000
A sEEREAMY

3,000,000& «50& 150,000
45,000
13,500
91,500

Mo R

HEE s ZEHXJAUEH A 2,600,000 0 2,600,000

2,000,000
600,000

W

401 AIEHIZ 2 I 2,600,000 0 2,600,000

2,000,000
600,000

M

01 A& HI 2,600,000 0 2,600,000
O=HIEx=AtY 2,600,000
=4

g g FUXNILEHAY
2,600,000,000& 2,600,000
2,000,000

—H

W
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D ASXE Y
P HsHESE (sHHY
D HSKEAAG

= .i.’?s)
S s

SA-HB .Y (BH) - MBPAY - B2 O 4t 0t SSa H RS2
L] = 500,000
HHS2AAH (HSX D) (IIEHIIE 107,952 110,652 A2,700
=2 107,952 110,652 A2,700
ol = 2| 107,952 110,652 £2,700
201 2Br2 Y| 66,312 66,312 0
01 Al 22t 47,668 47,668 0
ONE 1,831,000 182 32,958
OgYNSILL (RSN, SAXAD)
30,0002 %125 %102 450,000%! 1.3 + 1162 7,840
SERT 3,150
—=2qaly) 7,0002! 182 %2521 3,150
ouxz 1,800
—zD= A 150,000 * 1CH * 122 1,800
SLIETIIPN! 160,000 * 122 1,920
02 2zl 18,644 18,644 0
OFMRX 24 2,000,000 %174 2 2,000
Oxtzgzsz 640, 00021 *3CH 1,920
OsAWLRDS 120
— Ry 20,0002 *3CH +23] 120
OXHS XHAl 604
—zs 504,000 * 1CH 504
— =8 59,0002 *1CH 59
— s 41,0002 *1CH 41
oxSX 2 14,000
—zs 5,000
S2(FS, 25,000kn 0 &)
5,000,000%! +1CH 5,000
— 8 5,000
=5 (3% 0I©F, 20,000km Ol &)
5,000,0002! *1CH 5,000
— 52 4,000
CAE(BR 0l5t, 25,000km Ol &)
4,000,000 *1CH 4,000
202 04| 36,720 39,420 A2,700
01 20018l 36,720 39,420 A2,700
OB LY 01 bl 120,0002! 182 *122) 25,920
SEET 75,0009 %18 +82 10,800
203 22 =l b 4,920 4,920 0
02 BRI L= A 720 720 0
OFANMADETY| 40,0002 *18% 720
VS 4,200 4,200 0
PRI =ES 350,000 * 122 4,200
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